N = 0l & At & Ml A

20198 & =0llah LB & X
EM: A
M F=H EF MM
o2l =HEZMEAMS (chel & 9l)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
A= 11,799,455 8,148,020 3,651,435
= 4,747,331
s 147,000
J| 258,000
< 790,404
Al 5,856,720
= 23 Hd 1,023,000 1,182,400 A 159,400
= 28,500
s 147,000
J| 258,000
< 120,550
Al 468,950
FHEZMNE M 1,023,000 1,182,400 A 159,400
= 28,500
s 147,000
J| 258,000
< 120,550
Al 468,950
Jlz=MEolmet (B FHYIALY) 40,000 40,000 0
< 12,000
Al 28,000
402 RI2HXt20l 40,000 40,000 0
< 12,000
Al 28,000
02 2IZE 2 AL EZ (OIS ) 40,000 40,000 0
OZAEIEFZHIALY 40,000
< 12,000
Al 28,000
Jl=MEol T (B EFHIAMY-EX) 210,000 210,000 0
s 147,000
Al 63,000
402 RI2EX=201 M 210,000 210,000 0
s 147,000
Al 63,000
02 QI EAILSEZ (OIS ) 210,000 210,000 0
OsEEEEHI ALY 210,000
s 147,000
Al 63,000
slol & DMFIANG(EX) 516,000 316,000 200,000
J| 258,000
Al 258,000
402 RI2EXt20l ™ 516,000 316,000 200,000
J| 258,000
Al 258,000
03 212t EF AL HI 516,000 316,000 200,000
OslZo & D™=IIAY  4,000,000& *129= 516,000
J| 258,000
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SN ASD
M F=H EF MM
S FHEIMLASY CEE-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| Al 258,000
S| Aot A BIETHMALS 200,000 24,000 176,000
< 100,000
Al 100,000
402 2I2H X201 M 200,000 24,000 176,000
< 100,000
Al 100,000
02 QI E2AISEZ (OIS ) 200,000 24,000 176,000
O3t A BIETHAAIY 20,000,000 10 200,000
< 100,000
Al 100,000
SHE ZOHQI=E DHEALEY 57,000 49,400 7,600
= 28,500
< 8,550
Al 19,950
402 RIZ2FX201 A 57,000 49,400 7,600
= 28,500
< 8,550
Al 19,950
03 212t E AL S HI 57,000 49,400 7,600
Os0HE ZOHI=C JHZALY
3,800,000& 155 57,000
= 28,500
< 8,550
Al 19,950
SSsTHSIXTY 569,230 534,430 34,800
SSTHHIAW &3 H 569,230 534,430 34,800
SSTHHIUW SSALES 22X 487,330 452,530 34,800
201 €24l 1,330 2,530 A 1,200
01 At 22l 1,330 2,530 A1,200
Oo2g+¢ 1,330
e ANSIRE BHLT
70,0003 x3H 210
Derape SHIHAAL ALY
70,0003 23| x5 700
AT SHEFANE HALT
70,000 x6H 420
308 XXM SOIA 4,000 0 4,000
10 B2 SUHUS3AHEAE A 4,000 0 4,000
Ou=l 4,000
AENUHESS ws 20,000& x100H 2,000
TEFY Yy U AYNHDS
20,000& x100H 2,000
402 BIZHXHE0| A 482,000 450,000 32,000
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SN AED
M YPAS TAOHE A
Sl 2o@ne W A= (S &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
03 Al&E 201 Y| 1,440 0 1,440
O2=2g ol=0tel 252 2T A ALY
200,000, 000€& *0.72% 1,440
A=HE AHAFG 121,852 120,652 1,200
201 Yet2 | 91,252 91,252 0
01 AP 2t 2| H| 91,252 91,252 0
OAHAES A SEXZAI ZALEQ Q=42
348,258 & x20021 69,652
Ogbt424| 16,000
o2ds4 5,600
AFA] FHAELE 70,000 43| x11H 3,080
HAE ARG (E2 RN EHAQ) &S
70,000& *93| *4H 2,520
202 04| 30,600 29,400 1,200
01 2401l 30,600 29,400 1,200
OAFYW g2 28,200
OHEZAN 2EYR =N 2,400
SCAOZ X ZZ22AE2 HUAE 22,450 22,450 0
SADE Y BBALE ZH. 2L 22,450 22,450 0
201 et 9| 2,450 2,450 0
02 E232%H| 2,450 2,450 0
OBt (X2l A BIAIZ) EIIR2 24 1,633
gz 6,290 *3KW* 1. 1x12& x204 & 499
ANES 85. 9 x500KWH=* 1. 1% 122 #2JH A&~ 1,134
OMYLSe4II SILHHE MIIR2 817
gz 6,290 *3KW+1. 1x12& 250
ANES 85.9%! x500KWH* 1. 1x12& 567
401 AlEHIZL 2 0HY| 20,000 20,000 0
01 Al& H| 20,000 20,000 0
OEADZ Hdl ¥ 22 10,000
OZ2Z2AN&E= EHl & 22 10,000
X otd & 22 i 3,892,012 2,214,289 1,677,723
2S48 X ¥ A2 3,892,012 2,214,289 1,677,723
JI2S &3 2 |A 3,892,012 2,038,284 1,853,728
201 Bt 791,612 769,884 21,728
01 AF 22| H| 3,800 1,200 2,600
(@aE==1:] 2,000
I EELRA T2 2 500,000 x4 2,000
OJIRE MMED LolAHY 89|
150,000& 12& 1,800
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SM: 2

=1

M oL OE Y 22 M
&S N2ELX ¥ w2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02 =224l 787,812 768,684 19,128
OZMEs HMIIRS 500,000
Osgs dlle=s 186,000
OFEHE A2 HIIR3 7,328
ON2sS HIAHIH =2 28,438
| 51,0402 » 1674 2 8,524
H2s 8,591&*2,3185 19,914
OJ2& ZelZz18 K& EHHI
300,000& 122 3,600
Oonzs 21" 282 S 2,446
28z 1,000, 000& »2CH 2,000
RPN 100, 000& »2CH 200
SIMERE S 100, 000 »2CH 200
B N 23,0003 »2H 46
OJ2&E HUHE |X2eldl 180,000 x200H 36,000
Ox& =Xl 24,000
I2EEFXEY SA2
6,000,000 »2CH 12,000
N=SELTE A KA
6,000,000 »2CH 12,000
206 M= Hl 416,400 274,400 142,000
01 M2l 416,400 274,400 142,000
oxirzes 28 MM 7¢ 416,400
AsEE] 88,000& =1,000H 88,000
. LED I (50W) 110,000& *2, 5004 275,000
. LED I (100W) 150, 000& 3004 45,000
Aol= 1,200& *2,000m 2,400
SEX I 10,0002 » 1004 1,000
=2=E 8,000& 5004 4,000
SHSIHHIE T 40,0003 *254 1,000
401 Al HI L ROl 2,684,000 994,000 1,690,000
01 A& HI 2,664,299 986,601 1,677,698
O=s&JI2 S (LED) A& (2008)
320,000,000& *99.28% 317,696
OZAIJIZ2S(LEDS) A& (80S)
320,000,000& *99.28% 317,696
OFSAL 288 32 JI2S £X
30,000,000& *98.92% 29,676
Oz (2eh)s szl
330,000,000& *99.28% 327,624
OE3A & LEDSII+ wWH
1,500,000,000& *99.28% 1,489,200
OZAIIZ2E 288 uH
35,000,000& *98.92% 34,622
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D AE
BN (RS DNl PSR-t = 2] Pu]
P JIRSEX

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OkL=:lt2s Al (2008)
60,000,000 x99. 10% 59,460
O}NES +H24(150S)
75,000,000 *99. 10% 74,325
OF&HY AI2I2 X122 10,000,000 * 14! 10,000
OFTSHYE A2 &) &HZ L otMD| HH|
400,000& 10X 4,000
03 Al& £ TH bl 19,701 7,399 12,302
OsEIZS(LEDS) 414 (2005)
320,000,000 *0.72% 2,304
OZ A2 E(LEDE) AlH(80E)
320,000,000 *0.72% 2,304
OTUMN BHE F2 HE2S £
30,000,000 x1.08% 324
OY Al 24 LEDEDI R WH
1,500,000, 000 *0.72% 10,800
Oz (8eH)E X122l 330,000,000 *0.72% 2,376
OEANIIZ2S 288 WAH 35,000,000& *1.08% 378
OLZ:It25 HH|(200&) 60,000,000 *0.90% 540
ONRE SH™EZL(150=) 75,000,000 *0.90% 675
Ha0 5,898,539 3,930,427 1,968,112
= 4,718,831
& 589,854
Al 589,854
FH20O 5,898,539 3,930,427 1,968,112
= 4,718,831
& 589,854
Al 589,854
F=H30 5,898,539 3,930,427 1,968,112
= 4,718,831
= 589,854
Al 589,854
301 Bt A= 4,802,879 3,370,427 1,432,452
= 3,842,303
== 480,288
Al 480,288
01 Al E & A 462 4,802,879 3,370,427 1,432,452
FZAH20 4,802,879
= 3,842,303
= 480,288
Al 480,288
403 XX SRS K 20| & 1,095,660 560,000 535,660
= 876,528
& 109,566
Al 109,566
02 2| 2S0 et A== EAS Y 1,095,660 560,000 535,660
OF=H=HN 1,095,660
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Wikd
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Off &t 24
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H
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= 1t
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Fal
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el
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ol
all

01 At 22l bl
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ok
oD
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